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QUESTION 1

What affects whether the query results cache can be used?
A. If the query contains a deterministic function

B. If the virtual warehouse has been suspended

C. If the referenced data in the table has changed

D. If multiple users are using the same virtual warehouse

Correct Answer: B

QUESTION 2

True or False: Snowpipe via REST API can only reference External Stages as source.
A. True

B. False

Correct Answer: B

Reference: https://community.snowflake.com/s/article/Making-Transient-table-by-Default

QUESTION 3

True or False: Snowflake charges a premium for storing semi-structured data.
A. True

B. False

Correct Answer: B

Reference: https://snowflakecommunity.force.com/s/question/0D50Z00008ckwNuSAl/does-snowflakecharges-premium-
for-storing-semi-structured-data

QUESTION 4

What is the minimum Snowflake edition required to use Dynamic Data Masking?
A. Standard

B. Enterprise

C. Business Critical
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D. Virtual Private Snowflake (VPC)

Correct Answer: D

QUESTION 5

When reviewing a query profile, what is a symptom that a query is too large to fit into the memory?
A. A single join node uses more than 50% of the query time

B. Partitions scanned is equal to partitions total

C. An AggregateOperacor node is present

D. The query is spilling to remote storage

Correct Answer: D
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